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Subtraction Activity 1 
Maximum Expected Time Completion: 15 minutes 

 

Read the story and solve. 

1.      A girl has 5 pencils. 

 
 

She gives 2 to her friend. 
 

 
 

How many pencils are left? 
 

 5 - 2 = ____ 
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2.  8 birds are on a tree but 3 birds 
flew away. 
 

 
 

How many birds are left on the tree? 
 
 

 8 - 3 = ____ 
 
 
 



 (M-S-0001) 

 
 

D
is
cl
ai
m
er
: 

Th
is

 w
or

ks
he

et
 is

 d
is

tr
ib

ut
ed

 fo
r f

re
e 

an
d 

is
 n

ot
 in

te
nd

ed
 to

 m
ea

su
re

 a
 c

hi
ld

's
 s

ki
lls

 o
r i

nt
el

lig
en

ce
. I

t i
s 

de
si

gn
ed

 a
s 

a 
su

pp
le

m
en

ta
ry

 e
xe

rc
is

e 
to

 
su

pp
or

t t
he

 c
hi

ld
's

 le
ar

ni
ng

 a
lo

ng
si

de
 th

e 
ed

uc
at

io
na

l a
ct

iv
iti

es
 th

ey
 re

ce
iv

e 
fr

om
 s

ch
oo

ls
 o

r o
th

er
 in

st
itu

tio
ns

. 

3. A kid has 7 marbles 
 

 
 
 

The kid lost 4. How many marbles are left to the kid? 

 
 

 7 - 4 = ____ 
 
 
 
 



 (M-S-0001) 

 
 

D
is
cl
ai
m
er
: 

Th
is

 w
or

ks
he

et
 is

 d
is

tr
ib

ut
ed

 fo
r f

re
e 

an
d 

is
 n

ot
 in

te
nd

ed
 to

 m
ea

su
re

 a
 c

hi
ld

's
 s

ki
lls

 o
r i

nt
el

lig
en

ce
. I

t i
s 

de
si

gn
ed

 a
s 

a 
su

pp
le

m
en

ta
ry

 e
xe

rc
is

e 
to

 
su

pp
or

t t
he

 c
hi

ld
's

 le
ar

ni
ng

 a
lo

ng
si

de
 th

e 
ed

uc
at

io
na

l a
ct

iv
iti

es
 th

ey
 re

ce
iv

e 
fr

om
 s

ch
oo

ls
 o

r o
th

er
 in

st
itu

tio
ns

. 

4. My mom bought me and my sibling 7 
bananas 
 

 
 

We ate 4 of them. 
 

 
 

 7 - 4 = ____ 
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5. Dad has 16 pigeons. 
 

 
 

8 of them flew away. 
How many pigeons are left? 

 
 16 - 8 = ____ 
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6. My brother has 10 action figure toys. 
 

 
 

 If he gave away 4 of them, how 
many will be left to him? 
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7.  There are 9 cars parked in a parking 
area. 
 

 
 

6 of them left. 
 

How many cars are left in the parking 
area? 
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8. You have 20 1-peso coins. 

 

 

 

 
You bought a cup of Scramble worth 

P15.  

 
How much money is left with you now? 
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9. There are 9 notebooks to be given 
away to students. 
 

 
 

No student took any notebook. 
 

How many notebooks are left? 
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10. There are 6 fishes in an aquarium. 
 

 
 

Not counting the blue fish, how many 
fish are there in the aquarium? 

 


